
6 more than 15 is ____    42 + ____ = 55           27 - 9 = _____
 
 
7 tens and 9 ones = _____      7 x 5 = _____     7 + 2 + 5 = _____
 
 
40 ÷ 5 = ____        ____ + 18 = 30     ____ tens and ____ ones = 57      
 

A candy costs 10c each? How much would seven

candies cost? ____________

Answer the following.

Name :__________________

Fi l l  in the missing numbers.
16, 18, _____ , 22, ____ , ____ , 28, _____ , _____ , 34, _____

15, 30, _____ , 60, ____ , 90 , _____ , _____ , 135, _____

27, 30, _____ , 36, ____ , 42 , _____ , _____ , 51, _____ , _____

Divide these candies into 5 equal parts .

____ ÷ 5 = ____
 
 

Read and colour the fractions.
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